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General Instructions :
(1) This question paper contains five Sections : A, B, C, D and E.

(11)  Section A contains questions 1 to 8 carrying one mark each. Answers to

these questions.may be given in one word or a sentence.

(111) Section B contains questions 9 to 13 carrying three marks each. Answers

to these questions may be given in 50 — 75 words.

(tv)  Section C contains questions 14 to 19 carrying four marks each. Answers

to these questions may be given in about 120 words.

(v)  Section D contains questions 20 to 22 carrying five marks each. Answers

to these questions may be given in about 150 words.

(vt) Section E contains questions 23 to 25 carrying six marks each. Answers to

these questions may be given in about 200 words.

(vit) There is no over-all-choice in the question paper, however an internal
choice has been provided in 3 questions of one mark, 2 questions of three
marks, 2 questions of four marks, 1 question of five marks and 1 question

of six marks. You have to attempt only one of the choices in such questions.
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Qug A
SECTION A

1.  hIIIcHS &rd bl Y JdrsU | 1

Give the meaning of functional structure.

2. Yoy & Hgdl U9 Ja shl dehlehl H 3T=dHe shil9U | 1
SOE
Y AL UG T 31eYIH H 3TqHe hINu | 1

Distinguish between ‘Principles of Management’ and “T'echniques of
Management'.

OR
Distinguish between ‘Time study’ and ‘Motion study’.

3. 39 U0 I foiyg 1 9™ §dsu Na" gt T HId (AX) S¥edl
OTieeF ® 1 il 8 | 1

AT

UYUT <hl 3G YT & YehIX okl ATH ddISU ST 99l <hl Iecl AYaT = |
TehiteT d feehifem <t Ufsham § 3T Il GHEATS 3T Behlael ol Heidd shidl

2 | 1

Name the method of training in which the trainee works under the

gulidance of a master worker.
OR

Name the type of barrier of communication which refers to problems and
obstructions 1n the process of encoding and decoding of message into
words or Impressions.
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4. SIS U 1 ANIE 7 ? 1
AT
HeI-FHYRu | 1 AHYE 7 2 1
What 1s meant by ‘Branding’ ?
OR

What 1s meant by ‘Pricing’ ?

5. 3=l g ATHERI 8 | I8 Teh AhIYT @E TG hl gehd H g 3R Ush <hl
g8 kTRl feerrft < win | Al @ % Tw 3§ gar e 6 s 6
qrareil gt oft | 9 91 fasma @ 3R 7 & 3c41e Yohd W dA9d & 9T <A1 foh
39T | HIEeHl Gt oft | 39 IuHihT AR S AW Sdrst fSHes 3Tt
IYUIET GLT0T AT, 1986 & WGl & ITHAR =T G3TGS 1 el ohi
Tehdl 8| 1

Archana 1s a pure vegetarian. She went to a popular food chain shop and
asked for-a packaged ‘Veg-Biryani’. While eating the same she noticed
that 1t had some non-vegetarian content. Neither the advertisement, nor
the label on the package showed that the product had non-vegetarian
content. Name the consumer right under which Archana can claim for

compensation as per the provisions of Consumer Protection Act, 1986.

6.  ARAIhl IAM TSH sl Teh YR ohl YSil TATTehdl sl JHTGA Hdl & |
39YTH Y b TgH T JHTfad Uil o JehR ol TATHT | 1

“Technological Upgradation” affects one of the types of capital

requirement of an organisation. Identify the type of capital atfected with

@
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7. U 3R f@n for s=wiepim & 3rem-srer a9 § W id 8 | U foq guee
% 999 & 909 &1 3 U9 9 ka1 6 7¢ o hIOT hs HHAN hl I8 °
Bl B dredl 2 |

TS 1 T & 75 gU 9N o Yeh <1 A1 S(d15Y | 1

Raj and Riya are working in different departments of Leo Infocom. One
day at lunch time Riya told Raj that due to recession many people are
ogolng to be retrenched soon from the organisation.

Name the type of communication that took place between Raj and Riya.

8. TS 3iel feifues Aer wgfra =1 Ao &3 1 g oft | 39T ddehreia 3239
gt o foshar & gfg Feh IR W sheat ST o1 | 356 fofw 38 it
e Hifd w1 foveryer fohan | sEeh 39 3T HI UIftd & folw 381 e HieK
TTsfohet bl @lE W T 3,000 bl e a1 o HT J&dd A 1 FHur foram |
3E8 UTeeh 3TTehivd g 3R fasea # gfg &8 |

TSt 2A7er ffide g/ ST9ATE U JSHT & YhR ki Ya<n=u | 1

Raj Auto Ltd. was engaged in manufacturing motor cycles. Its long term

objective was to capture the market by increasing sales every year. For
this it analysed the pricing policy of the competitors. To achive this
objective it decided to offer a discount of ¥ 3,000 and free insurance on
purchase of every motor cycle. This attracted the customers and the sales
increased.

Identify the type of plan being followed by Raj Auto Ltd.

Lus d
SECTION B
9. IS i Teheal 19 HHIST 1 3gQ <hifoT | 3
HAAT
T3 o HEw o foheal oI fo=g3Tl sl Ig@ <hITT | 3
State any three limitations of Planning.
OR

State any three points of importance of Organising.
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10. HJh, Al Ueh U4l bl e &, 4 U4 Teh g hIEH ohl ShR THUT I
YA hleh AT RSl S i JioHT 9918 | 36 o Torn Tob I8 fofmron
ghTs UTHIUT & T TATMA ehi SATW dTieh UTHIOT &1 H T& dTel A bl ATehil o
IIEL THA Foh | 39k ToIU I8 WSS, hid, od1 AR Rfde b1 sher: foshl,
@T, 9 Td YR 99T & Yg@i o &9 § 9349 fhan | 9 e 9, wfe
Jiga™ AR TSIEHT | AT o |

fafirs f99TT o 9@l 1 =¥ S o G 9 g HYhenl TishaT | foiu
S a1 3T 19 T 1 3gE hied, | 3

Mayank, the director of a company, is planning to manufacture stuffed

toys for utilising waste material of one of his garments factories. He
decided that this manufacturing unit will be set up in a rural area, so
that people living in rural areas can have job opportunities. For this he
selected Arbaaz, Kriti, Lata and Ritik as heads of Sales, Accounts,
Purchase and Production departments respectively. They were differently

abled but intelligent and creative persons in designing.

State the next three steps Mayank has to follow in the staffing process

after selecting heads of different departments.

11. 3SFR YTl I SHR H YidYfadl I hIAdI I =T I HHdT 8 | IR
YEhieh, IR <l Al H TG7-UfdfqT & SAR-=grd i quidr 8 M Jidfa
ISR SIER o HIYGUS o &Y § JHE[ ST 3 |

3UYThH U h T H I STHR o fohea] i T T IgE hITT | 3

HAAAT

gfagfd IR % @Y IR Enfya fae™ & fau wa fasmehi & wew 7q
TR gfayfa wa fafm s i waman 6 8 |

Y YA o JHI H WA Jiayqfd ud fafaa sig o foheal di9 Ham™e Sl
$T 3IgE I | 3
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Stock 1index measures the movement of prices of securities at a stock
exchange. Stock index reflects the day-to-day fluctuations in stock prices
and are known as barometers of market behaviour of securities.

In the light of this statement, state any three functions of stock exchange.
OR

To promote orderly and healthy growth of securities market and
protection of investors, Securities and Exchange Board of India was set

up.
In the light of the given statement, state any three regulatory functions
of the Securities and Exchange Board of India.

12.  foreh=gIshtul o Hgwal o fehral i Teg3Al sl HHEATST | 3

Explain any three points of importance of decentralisation.

13.  EFAT A TAfeE W | 3794 I | SEYTd T Icq1ed &L @l 8 | Ig 394
SEITd <l Sl g3 HIT h1 <Y 331 @l 8 Hlich <3 hl 3M(Ah TdhE <X 8% h
T B | S¢I g3 A 1 BRI 33MH % AU $EH T AU H§IF B AT
ST §HE | F8 A TR AN TR AU IS K] M ok folT o
T 4,000 HUS T JA= FAT o AT ATHT T 600 HUS <hl ATIIHdT B |
3UYth I8 bl Whld hid o i@ fohd |Gl b1 TN TehaT ST qT foiya @il
g o8 "7 9 UshlEd Tt S I8 fa=moi o | 3

() YU alvld =R JGYROM sl YATHT Td 38T Y ST |

(@) TUH Tehral gl ShRUN ohl THARY Al HEUH! bl IUYw (F) B TgAHI T8
IO hl THTIId Hd & |

Sunflag Iron Ltd. is manufacturing steel at its plant in India. It is
enjoying increased demand for its steel as economic growth of the country
1s about 8%. It 1s planning to set up a new plant to avail the benefits of
increased demand. It 1s estimated that 1t will require about ¥ 4,000 crore
for setting up of plant and about ¥ 600 crore for other expenses to start
the new plant.

To collect the above mentioned funds, the sources to be used and the
quantity to be collected from different sources had to be considered.

(a)  Identify the above discussed concept and give its meaning.

(b) Explain any two factors that affect the concept identified in
(a) above.
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Qus ¥q
SECTION C

14. ‘THEyH ¢H Afide’ T dad Todt 8, S HHNH o YR W gATl3 [Che I
Hdl g | BATg 3T o STNEA I3 H UTGeh! ol feehe Taaid & H Tadyd 78
$l T Ted od 8 | TUSS T A1l H 39k AR T %l HHI 315 8 il
AT ITUHT 3 daed Toidl el gH W deed’ shl W <A ¢ &, S
1Y TUS H 3eHE gRT fdhe g el @ | 4
(%) ‘THEYH g™ TAfde’ Rl SATaETRIeh GIeRul o NE R i ¢! 6l
ST &1 8 39eh! A9 SINTT qeT 39 gHeST |

(@) 3I9Yw (F) U UgIH U M & Aldich SAE@nIse Giar o fhe
3 3T ol FHATST |

‘Express Tours Ltd.” 1s a travel agency which books air tickets on
commission basis. It takes two days for Express Tours to get the tickets
from airport reservation counter and deliver the same to customers.
During the last one year, there has been drastic decrease 1n 1ts business
as most of the customers have shifted to another travel agency, ‘Shiva
Tours and Travels’, which provides tickets within half-an-hour through
internet.

(a) Name and-explain the dimension of business environment that is
beingoverlooked by ‘Express Tours Ltd.’.

(b)  Explain—another dimension of business environment other than
that identified in (a) above.

15. e 9 H Torawor gbteht o Aiedm € SEdra a2 TSt e @61 95
qu A <A1 fafersn o &9 1 9 hifsu | 4

HAJAT

Gl ISR 99 A1 SiuTety ge3 1 Hgl S9N o Y931 o &9 H 9UH hIv | 4

Describe ‘Offer through Prospectus’ and ‘Private Placement’ as methods
of floatation of new 1ssues in Primary market.

OR

Describe “Treasury Bill’ and ‘Call money’ as money market instruments.
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16. 3Tad A4 hroidl "I Uigee TdIHee | T 3,000 H Uk Be JHMT H3fH
QUC | 394 9T 6 A9 31 W 8l L @l A | Fs WeEd v W
hTSTed HINA UTgae feifuee gra @ dieh gl Tt TR | 4
() 3T IYYRAT ATUSR el TEAM hiNT SEh! 3Ge- hiolel G JTSale
fafaee gro fomam mam |
(@) 39 3UYH BRA 1 A GT &1 ATaal 3791 Rehrra gt U dehd
2 |
() oIfq 98 3IUYh BRE b ACY H T @l 7, dl R 98 U™ B I
AN L Gohdl & ? 3794 3T & THAT T HIIT oV |

Anchal purchased a food processing machine for ¥ 3,000 from ‘Kajal

Machinery Pvt. Ltd.” She found that the machine was not working

properly. Despite many complaints, the defect was not rectified by Kajal
Machinery Pvt. Ltd.

(a) Identify the consumer right that has been violated by Kajal
Machinery Pvt. Ltd.

(b) = Suggest the appropriate forum where Anchal can file her

complaint.

(c) Can she-appeal to the Supreme Court if she is not satisfied with
the order of the appropriate forum ? Give reason 1n support of your

AIlSWEr.

17. ‘foquE’ SR foshd ¥ Tohegl 91 SMYRI W 3F=<qUg hifaT | 4
SOC|
fuuE &l 3G EYNUT TG {9UUH FAagRen § A YR W A=Y

P T4
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Differentiate between ‘marketing’ and ‘selling’ on any four basis.

OR

Differentiate between ‘Production concept’ and ‘Marketing concept’ of
marketing on the basis of

(a)  Starting point
(b) Main focus

(c) Means
(d) Ends

18. GHI whilshed WTsae fities’ o Ja-g Hezes 4 Ot faumiy Ye-eehl & 919
3% 1 | Ja-g e A gl b 90 SR I HICATES i oh ATdNH
38 ¥fasy § 3R 31fes e o1 fHalg = § 9819 o991 8 Hifeh a1
39T fIamT™ 39T Uitk H Teh 3T IcUIE Sied ST &l 8 | 39 32T hl UTied
foTe e ot fourie yg@Et & ge@ 3MEEE 6T | 3699 ek 4 Ied i
o ATYR G Teh AISAT dIR <hl | Gt [THFNT Jeehi 5 ATS1 &l 9T TohaT | 4

(%) . 39Yth Ig=sc U HGHd Adcd hl Acil hl TGS hINT dAT THHI Y
QT |

(@) H|qcd .31 3 ATt hl GHATT |

The Managing Director of ‘Verma Chemicals Pvt. Ltd.” held a meeting of
all the departmental managers. In the meeting, the managing director
sald that besides doing their current work efficiently, they also had to
make themselves capable of shouldering more responsibility in future as
the company 1s going to add an additional product to its existing product
line. For the realisation of this objective he invited suggestions from all
departmental heads. The Managing Director proposed a plan on the basis
of the suggestions received. All the departmental heads carried out the
plan.

(a) Identify and give the meaning of the style of leadership referred in
the above para.

(b)  Explain the other two styles of leadership.
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19. Aol AfIMieTsed fafes’ R fiar st & fau e uidg & fmior 4
M B | I8 Uk IS U Tl HET 7 | A Ig TIF IR {0 § e ek
AU IGHE ol (ISR HET ARl & | 9k (07U W diHenlicieh fad bl
ATATIHRAT & | HIAT o Toad Ja-eeh, 3191, 4 HHHl o J&I HEABRI ATTDN
! THAT 3TN o FEA GRI SIY S hl TATE &1 | $Heh 0T AcATTeeh Wi
AN sl TTEvThal ? | fiaT amra o 2R Sl qU i o fofw ot 3 g
SITSIR T TR To7 T | 4

(%) HgI S9N o 39 Y9 okl A T S8 e (9 @rTd bl 90 i
o ToTT 3TN T Tehell 7 |

(@) HgT 99 Td 4ot IR | fohegl 9 sl w ef=avg i |

‘MICO Automobiles Ltd.” 1s engaged in manufacturing of auto parts for
car manufacturing companies. The company enjoys good
creditworthiness. It now wants to expand its business by investing in new
plant and machinery. For this it requires long terms finance. Arsh, the
Finance Manager of the company advised the CEO of the company to
raise funds by 1ssuing equity shares. 1t requires huge floatation cost. To
meet the expenses of floatation cost the company decided to tap the
money market.

(a) - Name the money market instrument the company can use for
meeting the floatation cost.

(b)  Differentiate between ‘money market’ and ‘capital market’ on any
three basis.

Qus q
SECTION D
20. TfaRgd feafaa # fayurerdl gro S &l IH aTed! fasea gae depdienl
! UgEH hid §Y 3kl 3@ hIT | Ix5=5

(%) T 20,000 I T T 5,000 T FI I Johd |

(@) T "I ATsfha o T T T 1,60,000 T PIAH, T 40,000 qed al
Y TRT T YIAH T 6,000 Tk hl 20 THH fohedl | |

(1) &M % |regA < ffern ° 30 um fafer @ |
() Tk Orar HiGEd B % "9 4 GB #ART e U |
(§) 3fUsIq I HIANIH b Ui 991 4 T 2,500 b U2IA b shd T B oI
Tehl g HU |
66/1/1 1 P.T.O.
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E B
Identily and state the techniques of sales promotion used by the

marketer in the following cases :

(a) A free holiday package of ¥ 5,000 on purchase of goods worth
< 20,000.

(b) Payment of ¥ 1,60,000 for the purchase of a bike can be made,
T 40,000 immediately and balance in 20 equal instalments of

< 6000 each.

(c) 30 grams extra soap in a cake of bathing soap.

(d)  Get 4 GB memory card free with a ‘Popo’ mobile phone.

(e)  Lucky draw coupon for a car on purchase of petrol ¥ 2,500 from

Indian O1l Corporation petrol pumps.

21. HIGE AR UM W G I H SCATd o Tohral 9rd 99Tl 1 3@ <hIolU |
HAAT
Je-YH o Taed JL IYTd Slei T fohedl 919 Toigatl o1 3g@ shiivY |

State any-five impacts of government policy changes on Business and
Industry.

OR
State any five points that highlight the importance of ‘Management’.

22. ‘qftyept Tc1ftde’ o Ycdsh HHAR sl USITR <hl 1Al o AR Yfdfed 10 TSIl i
IO T AT | $S HHANI Bl BISHL g 4 — 6 Bl T HHOT Jidicd
fopan, gt U= 4 HiUd A& bl I AT | HHATRAT o HR—IHATl hl
T & T Jereq 4 @™ 4 H@1.8.A.d. o &1 Huig for=m |

() SUIE H wd Ta-ehiT 1 i Ug= iy |
(@) 3% (%) H ygad fhu U gerudhE wE H gl & =on @
AT |
&collegedunia;
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Each employee of ‘Bhoomika Ltd.” should manufacture 10 tables per day
as per the terms of employment. All the employees met the said target
except a few who manufactured between 4 — 6 tables per day. The
management look a decision to install Closed Circuit Television (CCTV’s)
in the factory for monitoring the activities of the employees.

(a)  Identify the managerial function discussed above.

(b)  Explain the steps in the process of the function identified 1in (a)

above.
dus Y
SECTION E
23, IS $i Tohral IR TORINATSTl i GHEATET | 6
HAAT
Y4 o TS I bl TshIT eh TN hl HHEST | 6
Explain any four characteristics of planning.
OR

Explain the stepsin the process of organising function of management.

24, HIgd, 3MehT fAfde | 3UTede] o €9 § $™ H W@ & | 98 Teh YU adl
fafemse s tdl 8, 9H 7Fa qegi o 9= gge] 8 | 3HhT 1 Ted HA
H e W 31 371 & Hifeh LT 991 9g HUi™ o 9=, 39 9al T h1d i
o fou ARl sl STavaehdl Bidt @ | 38 1 I TGY o Teh ST hd
€9 H <@ IAT 8 | 6 98 9+ hdoAl hl (Hdad hidl a, Iqehl YiHeT ATEl
Hiferd 81 St @ | 6

() A TAHES & IUTHIH o ®9 H Higd g1 HeATed hid bl dga™
shIfSTT AT SHhT 7Y HATSU |

(@) Higd g Twaried s | Ted sl §gd ° oY Bl & | UH Toheal qi=
AT 1 3@ hITT |
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Mohan is working as a vice-president in Ashoka Ltd. He performs a
separate and specialised function having many aspects of human
relations. His job 1s closely linked with organising since after the
structure and positions have been decided, people are required to work in
these positions. His function 1s seen as a generic function of management.

When he performs his duties, his role 1s slightly limited.

(a) Identify and explain the meaning of the function being performed
by Mohan as the vice-president of Ashoka Ltd.

(b)  The function performed by Mohan benefits the organisation in
many ways. State any five such benefits.

25. HIA qAT S, THI 4 99 T H AT Yh ANTGH CI1 8 S Ja4ehl o ol
3T h B I MUR 9 T 8 | o bl AT o1 Toh b Sl AT
I i H, 39 HH hl b 53 qLeh! ddl oHTHT GHd 8N | 39, 3ehl
U gl Tid TEIFT U A BRAARY b hI0 (e ¢ TohAT SITdl
2 | 384 <hal foh, Tk RIS d9T I Y9 dAT "IN U A9YSd-TcHS
A o T TIEigR] © 253 IR ITed 801 | BATAd 4 GHSAHET Th Teh Ja9h
! T B BT AMBY AT 55 B Dl i o U [ohd HGl ol YT bl
Sl

3UYh UM b YR W IeR a1 HBIATA o ANGH H = MER W 37=dg

T 6
() uiHeEd
(@)  ATCY hl Tehdl
(M) g (BIHA)
(&) AR
(§) SASHE
(F) TEET &l ATYR
66/1/1 14
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Fayol and Taylor both have contributed immensely to the knowledge of
management, which has become a basis for further practice by managers.
Taylor thought that by scientifically analysing work it would be possible
to find ‘one best way’ to do i1t. He 1s most remembered for his time and
motion studies and functional foremanship. He said that the best result
would come from the partnership between a trained and qualified
management and a cooperative and 1nnovative workforce. Fayol
explained what amounts to a manager’s work and what principles should
be followed 1n doing this work.

In the light of the above discussion, differentiate between the
contribution of Taylor and Fayol on the following basis :

(a)  Perspective

(b)  Unity of command
(c) Focus

(d)  Expression

(e)  Applicability

(f) Basis of formation
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